
Page

RevisionDocument No.

Production state
Not Released
Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

Table fixed
Order no.:	 103426-99-0
		

Attachment of accessory
The table can be fixed on the left or right side. Undo the 
four screws securing the table top, fig. 3. Turn the table 
frame to suit the chosen alternative.
Remove the forward plastic plug from the accessory rail. 
Screw the two M6x12 screws and square nuts in the 
accessory bracket. Figure 2. Only screw the nuts onto 
the screws by a few turns. Slide the bracket with the nuts 
mounted into the grooves on the accessory rail. Fig. 4.

1

Read the instructions carefully before starting installation 

List of parts in the set

Fig. 3. Undo the four screws that hold the 
table top in place. Turn the table top  

for right or left assembly.

Fig. 1. Parts included in the set.

Figure 4. Remove the plastic plug from the 
rail. Slide the accessory bracket into the 

grooves on the accessory rail.

1 pc	 Table. Table top and frame.
1 pc.	 Inner square tube, UniTrack.
2 pcs.	Square nuts.
2 pcs.	Screws M6x12.
1 pc.	 Accessory bracket.
1 pc.	 Inner square tube, for older accessory 

brackets.

Fig. 3. Screw the two M6x12 screws 
and square nuts in the accessory bracket. 

Only screw the nuts onto the screws  
by a few turns.

gggg gg

ggggggg

gggggggggg ggggggg ggg

232778 C

SERIES

BTA2008-01-30 2011-03-01 GHT



Page

RevisionDocument No.

Production state
Not Released
Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

2

Fig. 8. The table top angle is adjusted  
with the frame knob.

Adjustment of accessory
Adjust the distance between the user and the table by undoing the two stop screws fixing the table top 
in position along the central square profile. Figure 7. Tighten the stop screws once the desired position 
has been reached.
Adjust the table top sideways by releasing the table top from the frame, fig. 3. Move the central  
square profile to a suitable screw hole in the table top fixing. Figure 7. Tighten the screws and refit the 
table top. Tighten the four screws which hold the table top in position.
Adjust the table top angle by undoing the knob, fig. 8. Adjust to the desired position. Tighten the knob.

Fig. 7. Underside of table. The distance of 
the table top to the user is adjusted with the 
two screws which hold the table top in posi-

tion along the central square profile. The 
table top is adjusted sideways by moving 

the central square profile to one of the other 
screw holes in the table top fixing.

Fig. 5. The bracket mounted as far forward 
as the fully inserted plastic plug will allow. 

Fig. 6. The table mounted on the accessory 
holder. Check that the top part of the table 

has been lowered so far that both fixing 
screws engage with the inner square tube.

Refit the plastic plug. Slide the accessory rail forward towards the plastic plug. Tighten the bracket. Fig. 5.
Unscrew the knob on the accessory bracket and mount the inner square tube for UniTrack in the bracket. 
The head of the stop screw must rest against the top edge of the accessory bracket. Tighten the acces-
sory with the knob. 
Screw out the two stop screws on the outer square tube of the frame. Mount the table on the inner square 
tube. Figure 6. Check that the table has been lowered so far that both stop screws engage with the inner 
square tube. Tighten the stop screws.
Remove the protective plastic from the table top.

gggg gg

ggggggg

gggggggggg ggggggg ggg

232778 C

SERIES

BTA2008-01-30 2011-03-01 GHT



Page

RevisionDocument No.

Production state
Not Released
Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

Bord fast
Best.nr:	 103426-99-0
		

3

Läs noga igenom anvisningen innan montering påbörjas 

Förteckning över de detaljer som ingår i satsen

Bild 1. De detaljer som medföljer satsen.

1 st	 Bord. Bordsskiva och stativ.
1 st	 Inre fyrkantrör, UniTrack.
2 st	 Fyrkantmuttrar.
2 st	 Skruvar M6x12.
1 st	 Tillbehörsfäste.
1 st	 Inre fyrkantrör, för äldre tillbehörsfästen.

Montering av tillbehöret
Bordet kan monteras på vänster eller höger sida. Skruva 
loss de fyra skruvar som håller bordskivan, bild 3. Vänd 
bordsstativet till valt alternativ.
Ta bort den främre plastpluggen från tillbehörs-
skenan. Montera de två M6x12 skruvarna och fyr-
kantmuttrarna i tillbehörsfästet.  Muttrarna skruvas in 
endast några varv på skruvarna. Bild 2. Skjut in fästet 
med muttrarna instuckna i tillbehörsskenans skåror. Bild 
4.

Bild 3. Lossa de fyra skruvarna som håller 
bordsskivan. Vänd bordsstativet för höger 

eller vänster montage.

Bild 4. Platspluggen demonteras från 
skenan. Tillbehörsfästet skjuts in i tillbehörs-

skenans skåror.

Bild 2. Montera de två M6x12 skruvarna och 
fyrkantmuttrarna i tillbehörsfästet. Muttrarna 
skruvas in endast några varv på skruvarna.

gggg gg

ggggggg

gggggggggg ggggggg ggg

232778 C

SERIES

BTA2008-01-30 2011-03-01 GHT



Page

RevisionDocument No.

Production state
Not Released
Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

4

Bild 8. Bordskivans vinkel justeras med 
stativets skruvvred.

Injustering av tillbehöret
Avståndet mellan brukaren och bordet justeras genom att de två stoppskruvarna som fixerar bordsskivans 
läge utmed den mittre fyrkantprofilen lossas. Bild 7. Dra fast stoppskruvarna när önskat läge är inställt.
Bordsskivans position i sidled justeras genom att bordsskivan lossas från stativet, bild 3. Flytta den 
mittre fyrkantprofilen till lämpliga skruvhål i infästningarna mot bordsskivan. Bild 7. Dra åt skruvarn och 
återmontera bordsskivan. Dra åt de fyra skruvarna som fäster bordsskivan.
Bordsskivans vinkel justeras genom att skruvvredet, bild 8, lossas. Ställ in önskat läge. Dra åt skruvvredet.

Bild 7. Bordets undersida. Bordskivans 
avstånd till brukaren justeras med hjälp av 
två skruvar som fixerar skivans läge utmed 

den mittre fyrkantprofilen.
Skivan justeras i sidled  genom att flytta den 
mittre fyrkantprofilen till något av de andra 

skruvhålen i infästningen mot bordsskivan.

Bild 5. Fästet monterat så långt fram som 
den helt inskjutna plastpluggen tillåter.

Bild 6. Bordet monterat i tillbehörshållaren. 
Kontrollera att bordets överdel är så långt 
nedskjutet att båda fästskruvarna greppar 

mot det inre fyrkantröret.

Återmontera plastpluggen. Skjut tillbehörsfästet fram mot plastpluggen. Dra fast fästet. Bild 5.
Öppna tillbehörsfästets skruvvred och montera det inre fyrkantröret för UniTrack i fästet. Stoppskruvens 
huvud skall vila mot tillbehörsfästets övre kant. Dra fast tIllbehöret med skruvvredet. 
Öppna de två stoppskruvarna på stativets yttre fyrkantrör. Montera bordet på det inre fyrkantröret. Bild 
6. Kontrollera att bordet är så långt nedsänkt att båda stoppskruvarna greppar tag i det inre fyrkantröret. 
Dra fast stoppskruvarna.
Avlägsna skyddsplasten från bordsskivan.

gggg gg

ggggggg

gggggggggg ggggggg ggg

232778 C

SERIES

BTA2008-01-30 2011-03-01 GHT


